Relative Speed

Problems on trains
Concept Lecture - 7
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A train 800 m long is running at the speed of
78km/h. If it crosses a tunnel in 1 minute,
then the length of the tunnelis
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The length of a train and a platform are
equal. If with a speed of 90km/h the train
crosses the platform in one minute, then the
length of the train (in meters) is
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EA train_travelling at 48kmph crosses another

train, having half its length and travelling in
opposite direction at 42km/h, in 12
seconds. |It also passes a railway platform in
45 seconds. The len Jf the railway

platform is D=SxT
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Two trains are running in opposite direction
with the same speed. If the length of the each
train is 120 m and they cross each other in 12
sec, the speed of each train (in km/h)is
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Two trains are moving on two parallel
tracks but in opposite directions._A

rson|sitting in the train moving at
the speed of 80 km/h passes the
other train in 18 sec. If the length of
the other train is 1000 m, then its
speed (in km/h) is )
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G train of length 200 m crosses a
cyclist coming in opposite direction

o
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cross an other cyclist coming in
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A moving train passes a platform 50 m long
in 14 seconds and a lamp-post in 10
seconds. The speed of train is(in km/h)
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A train travelling with uniform speed crosses
two bridges of lengths 300" m and 240 m in
21 and 18 seconds respectively. The speed of
the train in km/h is
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A train passes two bridges of lengths 800 m and
400m in 100 seconds and 60 seconds
respectively. The length of the train is(in meters)
UH Id AW 100 Hex AR 60 s H
800 #iex 33X 400 #Hex & & gal @

‘k-l-"OO —5 40s TG Bl & A dEd #) FaT 87

60v™

44D v

Uos

= lows

a) 250 b) 300 200 d) 150




=, -
3 6
9¢ 10

S

_T qs lDS

S )(6".|9’
3 ¥m

Two persons are walking in the same direction
at rates 3 km/h and 6 km/h. A train comes
running from behind and passes them in 9 s
and 10 s. The speed of the train is:
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A man standing on a platform finds that a train
C—_ takes 3 seconds to pass him and another train
E of same length moving in the opposite
direction, takes 4 seconds. The time taken by
the trains to pass each other will be
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[K train travelling at the speed of x km/h
crossed a 200 m long platform in 30 secondsi
{;4—_200 — BO and overtook a man walking in the same
| direction at the speed of 6 km/h in 20
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A passenger train and a goods train are running in
the same direction on parallel railway track. If the
passenger train now takes three times as long to
pass the goods train, as when they are running in
opposite directions, then what is the ratio of the
speed of the passenger train to that of the goods
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- wo Two trains A and B, starts from stations X and
XA he Y¥m Y towards Y and X res i i
| 18m 7, pectively. After passing
3’\ Zom each other, they take 4 hours 48 min and 3
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A and B started their journeys from X to Y
and Y to X, respectively. After crossing each
other, A and B completed the remaining parts

of their journeys i @ nd 8 h respectively.
If the speed of B is 28 km/h, then the speed
(in km/h) of A is:
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A and B start moving from places Xto Y and Y to
} X, respectively, at the same time on the same

day. After crossing each other . A and B take. 5—

SA O‘ Xq _ q hours and 9 hours, respectively, to reach the|r
- & ,, respective destinations. If the speed of A is 33

S Z‘Iq km/h,then the SPeed (|n km/h) ofBis:
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P and Q start running simultaneously—one
from point A to B and the second from point
B to A. P’s speed is 6 /5" of Q’s speed. If after
crossing Q, o reach B, how
much time does Q take to reach A after
crossing P?
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c)4:12 min d) None of these
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. Two busses ‘A’ and ‘B’ started simultaneously
||;00 M 3 Dopmfrom cities P and Q towards cities Q and P
9 by 'gw% 1&’ respectively. The ratio of the speeds of A and
B B is 3:4. The busses meet at 11 am in
between P and Q. If bus A reaches city Q at 3
. pm, at what time bus B reaches city P?
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Suresh started travelling from place X to Y and
Rakesh from Y to X, at 9:00 AM. After meeting
on the way, Suresh and Rakesh reach Y and X, in
3 hours 12 minutes and one hour 48 minutes,
respectively. At what time did they meet each
other on the way.
g 9 99, WA TG X ¥ ¥ F fAw =geran
€ 3 TU TR v @ X & AT Toar ¥
TEd & fAes & arg, guor 3R ade wue
Y 3R X W FAw: 3 "er 12 fAwe IR vw
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11:24 AM b) 11:40 AM
c) 11:36 AM d) 12:00 AM
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